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Row | I(cm) | a{cm) | b(cm) | P (N/cm) | Tmin (Nm)] Tmax (Nm)] R1(N) | R2 (N) | Mmax (Nm)| Talt (Nm)| Tm (Nm) | Csize | Se (Mpa)] d(cm)
a 20 16 18 1000 0 2000 300 1700 48.5 1000 1000 0.82 229] 4.66
b 12 2 7 500 -100 600 1563 938 565.7 350 250 0.85 237 3.27
c 14 4 12 750 -200 400 2571 3429 146.9 300 100 0.85 2371 3.20
d 8 4 8 1000 0 2000 1000 3000 45.0 1000 1000 0.82 229] 4.66
e 17 6 12 1500 -200 500 4235 4765 313.9 350 150 0.84 2351 3.59
f 24 16 22 750 1000 2000 938 3563 155.9 500 1500 0.84 234] 3.73
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